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Errata

Page 227 – Regarding Figure 3-2, the last line for the ‘Unicast’ and ‘Multicast’ diagrams are labeled incorrectly.  The last line for each diagram should read:  33 Clients    33 Clients  34 Clients 

Page 323 – Regarding Table 4-12, under the column ‘RouterInterface’, row 11 should read:  Serial0
Page 330 – Regarding Example 4-40, the first line should read:  Interface Serial0

Page 348 – Regarding Example 5-5, the first line should read:


RSVP-Example# show run | begin FastEthernet0

Page 389 – The first sentence of the first paragraph should read, “First enable RSVP on all interfaces using the reserved bandwidth of 772 kbps, which is 50 percent of the smallest interface bandwidth of a serial interface.”


Example 5-35, Line 21 should read:  acc-qos guaranteed-delay

Page 390 – Regarding ‘Step 4’, the second sentence should read, “Each router should weigh the priority of packets based on their DSCP values; packets marked with the 000000 DSCP value should be discarded after 20 packets, and there should be no more than default DSCP packets before WRED begins to discard them as well.”

Page 391 – Regarding the ‘Elroy Router Configuration’ of Example 5-39, the third line from the bottom should read: acc-qos guaranteed-delay

Page 393 – Regarding Example 5-39, the third line from the bottom should read:


acc-qos guaranteed-delay

Page 399 – Regarding the ‘NOTE’ section, the formula for Weight should read:


Weight = 4096/ (IP Precedence + 1)

Page 400 – The last sentence on the page should read, “Packet C-1 is assigned a sequence number of 349,564, by applying the inactive flow formula shown in Example 6-1.”

Page 418 – Regarding Table 6-6, delete the second line under ‘Protocol’ which reads ‘WINS’, that is listed for the queue ‘High’.  Add ‘WINS’ as the line under ‘Protocol’, which will be listed as the first line for the queue ‘Medium’.

Page 421 – Regarding Step 4, the second sentence of the second paragraph should read, “Access list 101 was used to specify DNS traffic.”


Delete line 2 of the configuration under Step 4 which reads:


access-list 101 permit udp any host 10.54.148.15 netbios-ns

Page 423 – Regarding Example 6-15, delete line 26 which reads:


access-list 101 permit udp any any host 10.54.148.15 eq netbios-ns

Page 472 – The last sentence on the page should read, “In traffic policing, when you define a violate actions, you are actually defining a second  bucket that will be used for packets that already exceed the normal and excess burst rates.”

Page 489 – Regarding Step 1, the first sentence should read, “Configure the Orlando router to connect to the Atlanta and Columbia routers, without the use of frame-relay map statements.”

Page 492 – The third sentence of the first paragraph should read, “The other two DLCI numbers, 201 and 203, are assigned to interfaces 3 and 4, which connect to the Atlanta and Columbia routers.”

Page 493 – Regarding Step 1, the first and second sentences of the first paragraph should read, “Configure the Orlando routers to connect to the Atlanta and Columbia routers without the use of frame-relay map statements.  Also, configure the Atlanta and Columbia routers to reach the Orlando router.”


The second paragraph of Step 1 should read, “To configure the Layer 2 connections from the Orlando routers to the Atlanta and Columbia routers without the use of frame-relay map statements, use subinterfaces on the Orlando router’s serial interface:


Regarding Step 2, the first sentence of the second paragraph should read, “To establish IP connectivity from the Atlanta and Columbia routers to the Orlando, router, the following addresses are assigned.”

Page 504 – In the example for Step 3, there is incorrect highlighting: "vbr-nrt 50000 45000" and "encapsulation aal5snap" should not be highlighted, but "access-list 1 permit 192.168.0.0 0.0.255.255" and "access-list 1 permit 10.1.1.0 0.0.0.255" should be.

Page 505 – The last sentence of the first paragraph should read, “This policy is then applied to the Serial0/1 interface using the outbound service policy, as shown here, from the LAN-rtr router:”

Page 517 – Fig 7-2:  Steps 4 & 5, Incorrectly labeled RIB graphics. "Adj-RIB-Out" should be "Adj-RIB-In"


Step 7, Incorrectly labeled RIB graphic. "Loc-RIB" should be "Adj-RIB-In"


Step 8, Incorrectly labeled RIB graphic. "Adj-RIB-Out" should be "Adj-RIB-In"

Page 524 – Regarding Figure 7-5, the cloud on the right of the diagram should read:


Service Provider #2


Network AS 123

Page 525 – Regarding Figure 7-6, the top cloud should read:


Service Provider 


Network AS 876

Page 526 – Regarding Figure 7-7, the cloud on the left should read:


Service Provider #1


Network AS 923

The cloud on the right should read:


Service Provider #2


Network AS 159

Page 527 – Regarding Figure 7-8, the top cloud should read:


Service Provider Network AS 888

Page 531 – The last sentence of the first paragraph should read, “Therefore, Router D sees an AS_PATH of 400 and 209 when in the path to Router C, but it is unaware that AS 400 had multiple routers in the path.”


Fig 7-12: Figure title, "ASm Paths and I-BGP" should be "AS Paths and I-BGP"

Page 541 – Regarding the numbered list, #1 should read, “ORIGIN – Specifies the origin of the route: IGP, EGP, or Incomplete.”

Page 566 – The last sentence of the first paragraph should read, “If the router entered BGP from an unknown (external to BGP) routing process, then the ORIGIN value is type 2, Incomplete.”


The first sentence of paragraph 2 should read, “Figure 7-22, shows a router with the attribute type 0, IGP.”

Page 571 – Regarding Figure 7-26, The 3rd row of column 2 n the table ‘Update Message to RouterC’ should read: [6565]

Page 573 – Regarding Figure 7-27, the top cloud should read: AS 515


The bottom cloud should read: AS 151


"Update message from Roswell", row 3, column 2 - NEXT_HOP address "192.168.4.4" should be "192.168.4.5"


"Update message from Santa Fe", row 3, column 2 - NEXT_HOP address "192.168.4.5" should be "192.168.4.4"
Page 575 – Regarding Figure 7-29, Regarding the top table entitled ‘Update Message from East’, please change row three of the second column to read:  IGP 8245 204.168.52.1


Regarding Figure 7-29, The table to the left should be entitled ‘Update Message from East’.

Page 576 – The third sentence of the second paragraph should read, “For the Internet router is AS 3898 to prefer the DS3 connection to the 123.45.67.0/24, 123.45.68.0/24, and 123.45.69.0/24 networks via the path advertised by the Edge 1 router, the Edge 2 router, which is connected to the Internet router via a T1 connection on the 211.146.2.252 network advertises with a MED value of 50.”

Page 589 – Fig 7-40 In the bottom portion of "Before and After AS Confederations", there should be lines connecting Router B to Router C and Router E to Router F. (per text, p 590, "The bottom diagram shows how two sub-autonomous systems, 65,534 and 65,535, are formed within AS 1765, decresing the number of I-BGP peer sessions to three per sub-AS...)

Page 603 – Example 8-5: Line 9 should read "Alki# show ip bgp | include /*>"


Lines 10-13 should not appear.

Page 612 – Regarding Example 8-13, the fourth line from the bottom should read:


Comment: UPDATE messages were enqueued for transport and then sent successfully

Page 650 – Regarding Example 8-28, please add the following command as the sixth line:


encapsulation frame-relay IETF

Page 663 – Regarding Figure 8-6, please change all instances of 198.205.11.8 to 198.205.12.8 (There are 3 instances that need to be changed.)

Page 664 – Regarding Example 8-39, please make the following changes:


change 2.0.0.0 to 20.10.10.0/24 


change 3.0.0.0 to 20.10.11.0/24


both instances of ‘3456’ should be changed to ‘945’


Regarding Example 8-40, please make the following changes:


change 2.0.0.0 to 20.10.10.0/24 


change 3.0.0.0 to 20.10.11.0/24

both instances of ‘3456’ should be changed to ‘945’

Page 667 – Regarding Example 8-42, delete lines 24 and 25.

Page 669 – Regarding Example 8-46, delete line 4.

Page 737 – Regarding Example 9-25, line 5 should read:


aggregate-address  156.202.148.0  255.255.255.0 as-set summary-only

page 744 – The first sentence of the second paragraph should read, “As you can see in the preceding example, after Speedy router was configured to conditionally advertise the 129.40.18.0/24 network it began to su0ppress the advertisement of the 129.40.18.0/24 network.”

Page 757 – The second sentence of the paragraph should read, “In this case, the Kimberly router has been configured to send all locally originated routes to neighbor 62.128.47.193, the Willis router, with the ORIGIN attribute changed to INCOMPLETE.”

Page 767 – Regarding the ‘Examples’ column in Table 9-4, the fifth line of row 2 should read: 


645 400 100

Page 840 – Regarding Example 9-111, insert the following line between lines 3 and 4, making this line 4:


bgp router-id 155.206.127.105

Page 841 – Regarding Example 9-113, insert the following line between lines 3 and 4, making this line 4:


bgp router-id 155.206.127.106

Page 859 – Regarding Example 9-131, insert the following line between lines 43 and 44, making this line 44: bgp router-id 155.206.127.105

